Understanding Biological Psychology

Multiple Choice Questions
(Please note: Correct answers are marked with an asterix *)

1. The conceptual nervous system aims to model what?
a. Brain data
b. Introspective insight

c. Behavioural data *
d. Qualitative data
2. Dualism contends what?
a. Mind is a product of the brain

b. Mind is a product of the interaction of the brain and environment

c. Mind and brain are reducible to some common core process
d. Mind and brain are essentially separate though interacting entities *
3. Monism contends what?
a. The origins of the mind are unknowable

b. The mind and brain are reflections of a single underlying process *
c. The mind and brain are essentially separate entities

d. The mind must be reduced to the brain

4. Identity theory is one form of which philosophical position?
a. Monism *
b. Dualism
c. Reductionism

d. Idealism

5. Reductionism argues what?
a. Complex psychological phenomena are best understood by breaking them down to
their simpler processes *
b. The brain should be understood in terms of neurotransmitters

c. The mind is a product of the brain

d. Complex phenomena are best understood at the level of their full complexity

6. Darwin is most famous for proposing what?
a. Discovering evolution

b. Proposing a theory of how evolution works *
c. Discovering the fossil record that supported evolutionary theory 

d. Proposing the genetic basis of evolution

7. Darwin argued that the process of evolution is what?
a. Guided by the needs of the species

b. The outcome of blind chance *
c. In the service of the ultimate improvement of the species

d. Guided by a higher moral purpose
8. Natural Selection is what?
a. The process by which Nature favours some characteristics over others *
b. The process by which Natures favours the strongest of the species

c. The natural process by which individual members of a species change to fit their environments

d. The naturally occurring genetic effects that lead to improved species 

9.
The concept of fitness refers to what?
a. Physical health

b. Long life

c. Reproductive success *
d. Attractiveness

10. Charles Darwin’s contended that evolution was which of the following?

a. Inevitably highly competitive with little room for cooperation

b. Inevitably cooperative with little room for individual competition

c. Depending on the environment, either competitive or cooperative *
d. A process always red in tooth and claw

11.  Sexual selection refers to what?
a. Physical attractiveness in members of the opposite sex
b. Selection of favoured characteristics by opposite sex *
c. Strong males gaining sexual access to females

d. Strong and aggressive males gaining sexual access to females

12.   Darwin argued the process of inheritance relied on which process?
a. Genes found in all cells in the body

b. Gemmules *
c. Recessive and dominant alleles

d. Sex cells in the blood

13. One of the major problem with Darwin’s theory of evolution during his lifetime was what?
a. Incomplete fossil record
b. Lack of evidence for the existence of intermediate species
c. No good argument against Lamarck’s theory of evolution by acquired characteristics

d. No viable theory for the process of inheritance  

14. Gregor Mendel’s work with peas showed what?
a. Offspring characteristics could be perfectly predicted on the basis of parental characteristics
b. There is a single gene for each characteristic
c. An important difference exists between genotype and phenotype *
d. Offspring can only inherit those characteristics shown by their parents
15.  Gregor Mendel’s work also showed that the nature of the gene must be?
a. Modifiable in each generation

b. Unchanging across the generations
c. A ‘particulate’ containing a discrete package of information *
d. Always expressed in each generation
16. A recessive gene is only always expressed when?
a. One of the alleles is recessive
b. Two of the alleles are recessive *
c. At least one of the alleles is dominant
d. Two of the alleles are dominant
17. The 22 non-sex chromosomes are known as what?
a. Concordant

b. Homologous/matching *
c. Homozygous

d. Heterozygous

18. The sex-cell (gamete) contain what?
a. Only a X or Y chromosomes 

b. 23 pairs of chromosomes
c. 23 single chromosomes *
d. The X and Y chromosomes
19. Crossing-over is the process by which?
a. During the production of gametes each of the pairs of chromosomes are broken and recombined *
b. Sperm and ova cell exchange genetic material

c. Gametes are formed from the random selection of one of each pair of chromosomes

d. How genes are expressed during the early stages if embryonic development.

20. Genetic Imprinting is defined as what?
a. The process whereby recessive and dominant genes are expressed to influence the final phenotype
b. The effect shown by genes that have patterns of early expression in the developing foetus 
c. The finding that a small number of genes have the capacity to exert major influences in brain development 
d. The marking of a gene for expression and the silencing of the alternate gene determined by its male/female source *
21. The ‘genetic code’ is defined as the relationship between which two things?
a. DNA sequences and genes
b. DNA and RNA
c. DNA triplets and amino acids *
d. DNA triplets and proteins
22. The structure of DNA supports replication because?
a. Unzipping the helix produces an identical strand
b. Unzipping the helix produces a complementary strand *
c. Both strands of DNA are replicated together

d. An RNA template of the helix is produced

23. How many amino acids are compiled from DNA?

a. 64
b. 12

c. 123

d. 20 *
24. Transcription is the process by which?
a. DNA is broken down into genes
b. DNA is converted into mRNA *
c. Amino acids and proteins are compiled
d. RNA is converted back into DNA
25. Translation is the process by which?
a. DNA is converted to RNA
b. DNA is converted in mRNA
c. Coding and noncoding parts of DNA are separated during replication
d. Amino acid and proteins are compiled *
26. What is the following type of mutation called: CAT TAG GAT to ATT AGG AT
a. Synonymous mutation

b. Frameshift mutation

c. Substituation mutation

d. Point mutation *
27. How did the gene for Huntington’s Disease avoid extinction?

a. By being a recessive gene disorder

b. It is expressed late in life *

c. It is a gene complex disorder

d. A new mutation occurs in each generation

28. PKU is what type of disorder?
a. Recessive gene disorder *

b. Dominant gene disorder

c. Oligoenic disorder

d. Multiple gene disorder 

29. Haemophilia is what type of disorder?
a. Recessive gene disorder *

b. Dominant gene disorder

c. Oligoenic disorder

d. Multiple gene disorder 

30. Sickle cell anaemia is what type of disorder?
a. Recessive gene disorder *

b. Dominant gene disorder

c. Oligoenic disorder

d. Multiple gene disorder 

31. Down’s syndrome is what type of disordert?
a. Recessive gene disorder 
b. Dominant gene disorder

c. Allelic disorder
d. Chromosomal disorder * 

32. Which genetic disorder has an obvious evolutionary advantage in non-affected carriers of the gene?

a. Huntington’s Disease

b. Sickle cell anemia *

c. PKU

d. Neurofibromatosis 

33.  Identical and fraternal twins are more technically referred to as what?
a. Dizygotic and monozygotic

b. Polyzygotic and monozygotic

c. Heterozygosity and homozygosity

d. Monozygotic and dizygotic

34. Hamilton’s kinship theory argues altruistic behaviour is what?
a. For the good of the species

b. Survives because “one good deed deserves another”

c. Serves the interests of genes and not individuals *
d. Governed mainly by social rules

35. Inclusive fitness is concerned with acts that increase what?
a. The survival and reproduction chances of genetically related individuals *
b. The survival and reproduction chances of the species 

c. The survival and reproduction chances of the actor only
d. The survival and reproduction chances of the immediate family only

36.   Reciprocal altruism is defined as helping behaviour?
a. Without any expectation of reciprocity
b. Aimed only at genetically related individuals

c. Directed at those who are expected to reciprocate *
d. For the good of the species

37. ‘Selfish gene theory’ argues what?
a. Selfish genes make selfish people

b. The most genetically successful people will be the most selfish

c. Genes are selfish because their only criterion of success is replication *
d. Selfish genes produce selfish species who favour their own members over those of other species

38.  Which of the following is NOT involved in sensory processing?

a. Receptors

b. Transduction

c. Translocation *
d. Transmission

39. The Central Nervous System is composed of what?
a. Brain and somatic nervous system

b. Brain and peripheral nervous system

c. Brain and spinal cord *
d. Brain and autonomic nervous system 

40.  The Autonomic Nervous System is part of which system?
a. Sympathetic nervous system

b. Parasympathetic nervous system

c. Somatic nervous system

d. Peripheral nervous system *
41.  The spinal cord contains how many spinal nerves?

a. 12
b. 19

c. 27

d. 31 *
42. What is the approximate weight of the human brain?

a. 400 grams

b. 900 grams

c. 1300 grams *
d. 200 grams
43. Which of the following structures is NOT part of the hindbrain?
a. Pons

b. Reticular formation

c. Ventral tegmental area *
d. Cerebellum

44. Which of the following structures is NOT part of the midbrain?
a. Thalamus *
b. Substantia nigra

c. Tegmentum

d. Superior colliculus

45.  The limbic system is particularly involved in which functions?
a. Sensory functions

b. Control of movement
c. Thinking and cognition
d. Emotional and motivational processes *
46. The function of the blood-brain barrier is to what?
a. Ensure that a sufficient supply of blood enters the brain

b. Stop toxins entering the brain *
c. Stop too much oxygen-rich blood entering the brain

d. Ensure that immune killer cells enter the brain to attack infection

47.  The role played by ‘apoptosis’ during neural development is what?
a. Neurogenesis of new cell divisions among stem cells in neural tube

b. Programmed cell death to weed out useless cells *
c. Differentiation of stem cells into specialized cells

d. Reorganization to facilitate developing brain

48. Wilder Penfield is famous for experiments involving?
a. Split-brain patients

b. Electrical stimulation of the brains of conscious patients *
c. Psychosurgery to treat psychiatric disorder
d. Lesion studies of primate brains
49. DNA is located in which part of the neuron?
a. Soma *
b. Axon

c. Ribosome

d. Dendrite

50. The part of the typical neuron that sends signals to other neurons is known as what?
a. Terminal buttons *
b. Dendrites
c. Soma

d. Axon

51. The part of the typical neuron that receives signals from other neurons is known as what?
a. Terminal buttons

b. Dendrites *
c. Soma

d. Axon

52. The axon is involved in which type of transmission?
a. Intracellular transmission *
b. Extracellular transmission

c. Intercellular transmission

d. Introceullar transmission

53. Temporal summation is the combined strength of signal input due to what?
a. Series of rapid weak signals from a single neuron *
b. Series of rapid weak signals from a multiple neurons

c. Single strong signal from a single neuron
d. Single strong signal from multiple neurons
54. Spatial summation is the combined strength of signal input due to what?
a. Weak signals from a population of distant neurons
b. Weak signals from one distant neuron
c. Weak signals from a population of contacting neurons *
d. Weak signals from one contacting neuron
55. Temporal and spatial summation occur at which process?
a. Dendrites
b. Axon
c. Axon hillock *
d. Terminal buttons
56. The strength of signal to the soma is what?
a. All-or-nothing

b. Degraded *
c. Summated

d. Graded

57. Myelination serves to what? 

a. Protect the axon from damage

b. Prevent leakage of chemicals to other neurons

c. Speed signal transmission *
d. Transport neurotransmitters to the terminal buttons

58. The gap between in the myelin sheath is called?
a. Clefts
b. Fissures
c. Nodes of Ranvier *
d. Nodes of Saltation
59. The synaptic cleft is important in which type of transmission?
a. Intracellular transmission

b. Extracellular transmission

c. Intercellular transmission *
d. Introceullar transmission

60.  The function of vesicles is to what?
a. Provide the electrical impulse for the release of neurotransmitter substance
b. Regulate the release of neurotransmitter substance
c. Reuptake excessive neurotransmitter in the synapse

d. Store neurotransmitter substance *
61.  Autoreceptors serve to do what?
a. Activate postsynaptic receptors
b. Store neurotransmitter substance

c. Monitor neurotransmitters in the synapse *
d. Produce neurotransmitters

62. Which of the following is NOT a way of reducing neurotransmitters in the synapse?

a. Diffusion

b. Enzymatic degradation

c. Osmosis *
d. Reuptake

63. The resting potential of a neuron is which of the following?
a. +70 millivolts

b. -70 millivolts *
c. +140 millivolts

d. -140 millivolts

64. The resting neuron is said to be in which state?
a. Depolarised
b. Polarised *
c. Hyperpolarised
d. Reversed polarised
65. The active neuron is said to be in which state?
a. Depolarised *
b. Polarised

c. Hyperpolarised

d. Reversed polarised

66. A nerve impulse is more technically called?
a. Action voltage

b. Action increment

c. Action polarisation

d. Action potential *
67. The All-or-None Law implies what?
a. The strength of the input signal does not determine the strength of the axon impulse *
b. The strength of the input signal does determine the strength of the axon impulse

c. A single input signal of sufficient strength is needed to produce the axon impulse

d. Multiple input signals each of sufficient strength are needed to produce the axon impulse

68. The term impulse frequency refers to what?
a. The rate at which a neuron fires *
b. The strength of the axon impulse

c. The length of a time of a single axon impulse

d. Graded potentials
69. Which of the following statements is true of a resting neuron?

a. Randomly fluctuating amounts of potassium and sodium inside and outside of membrane 
b. Equal amounts of potassium inside and outside membrane
c. More potassium outside membrane; more sodium inside membrane

d. More potassium inside membrane; more sodium outside membrane *
70.  What causes the nerve flare when the neuron is active?
a. Sodium ions rushing out of neuron 

b. Sodium ions rushing into the neuron *
c. Potassium ions rushing out of neurons
d. Potassium ions rushing into the neuron
71. Salutatory conduction refers to what?
a. The opening of ions gates  

b. The flow of ions in and out of the neuron’s membrane

c. Jumping of nerve impulse from gaps between myelin sheath *
d. Speeding of nerve impulse due to continuous myelin sheath
72. The lock and key analogy of neurotransmitter action refers to what?
a. Neurotransmitter being the lock, receptor being the key

b. Neurotransmitter being the key, receptor being the lock *
c. Neurotransmitter and receptor being the key, postsynaptic nerve impulse being the lock

d. Neurotransmitter and receptor being the key, postsynaptic secondary proteins nerve being the lock

73. Which of the following is NOT a small-molecule neurotransmitter?
a. Amino acids
b. Neuropeptides *
c. Monoamines
d. Soluble gases
74. Which of the following is NOT an amino acid neurotransmitter?

a. Glutamate

b. GABA

c. Dopamine *

d. Aspartate

75. Which of the following is NOT a monoamine neurotransmitter?

a. Serotonin

b. Norepinephrine

c. Endorphines *
d. Dopamine
76. What is the principal excitatory neurotransmitter in the brain?

a. Serotonin

b. GABA

c. Dopamine

d. Glutamate *
77. What is the principal inhibitory neurotransmitter in the brain?

a. Serotonin

b. GABA *

c. Dopamine

d. Glutamate 

78. The effect of agonist drugs on neurotransmitter action is to produce what?
a. Reversal
b. Blockade
c. Facilitatation *
d. None of the above
79. The effect of antagonist drugs on neurotransmitter action is to produce what?
a. Reversal
b. Blockade *

c. Facilitatation
d. None of the above
80. Neurotransmitters with postsynaptic excitatory and inhibitory effects may be said to have what actions?
a. Only agonist actions  *

b. Only antagonist actions

c. Both agonist and antagonist actions

d. None of the above

81. The name given to a drug that actively inhibits a receptor is what?
a. Partial agonist

b. Partial agonist

c. Reverse agonist  *

d. Reverse antagonist

82. Which of the following statement is NOT true of neurotransmitters?

a. They can lead directly to the expression of genes   *

b. They can lead indirectly to the expression of genes  

c. They can activate different types of receptors

d. They can be blocked by the actions of drugs

83. A allosteric interaction is defined as what?
a. Activity of one receptor molecule dependent on activation of a different receptor molecule *
b. The way two neurotransmitters interact to affect a neural system.

c. The activation of multiple receptors of the same type to exert a pharmacological effect 

d. The interaction of neurotransmitters and drug on pharmacological processes

84. The term down-regulation referred to as what?
a. Increase in number of receptors

b. Decrease in number of receptors  *

c. Increase in strength of neurotransmitter

d. Decrease in strength of neurotransmitter

85. The term up-regulation referred to as what?

a. Increase in number of receptors *

b. Decrease in number of receptors  

c. Increase in strength of neurotransmitter

d. Decrease in strength of neurotransmitter

86. What is technically meant by drug dependence?

a. Psychological desire to take drug
b. Need to continue to take drug to avoid withdrawal effects  *
c. Personal and/or social ill effects of drug taking
d. Long term use of drug
87. The process of translating physical energy into an electrical nerve signal is known as what?
a. Perception

b. Transposition

c. Detection

d. Transduction *
88. Somatosensory receptors are sensitive to which type of stimulation?
a. Light

b. Sound

c. Smell

d. Pressure *
89. Vibration is converted into an electrical signal by which process?
a. Directly stimulating the release of a chemical

b. Bending of the tip of the sensory receptor *

c. Frequency coding

d. Stimulation of small, medium and large fibres

90. A receptor field is defined as what?
a. The area of the external world which impacts on the sensory system

b. The number of receptors needed to be activated to generate a percept

c. The size of the receptor

d. The area on the sensory surface to which the receptor is sensitive *
91.  Two-Point Tbreshold is defined as what?
a. The separate perceptual effects of two simultaneously presented stimuli
b. The shortest distance at which discrimination of two stimuli is above chance  *
c. The shortest temporal interval between two events that may be detected 

d. The combined perceptual effects of two simultaneously presented stimuli 
92.  Nociceptive receptors are sensitive to which tactile event?

a. Touch

b. Vibration

c. Damage * 

d. Pressure 

93.  Taste receptors code the presence of the four main taste molecules by which means?

a. Each taste receptor being sensitive to only one taste molecule

b. Each taste receptor being equally sensitive to all taste molecules

c. Each taste receptor being sensitive to all taste molecules but maximally to only one taste molecule *
d. Each taste receptor being sensitive to only two of the four main taste molecules
94.  The neural processing of taste is said to be what?

a. Analytical

b. Adjunctive

c. Synthetic  *
d. Syngergetic

95.  The flavour of food is determined by which type of stimulation?

a. Taste alone

b. Smell alone

c. Taste + smell *
d. Taste + smell + vision

96.  The neural processing of smell is said to be what?
a. Analytical

b. Adjunctive

c. Synthetic  *

d. Syngergetic

97.  The neural processing of audition is said to be what?
a. Aanalytical  *

b. Adjunctive

c. Synthetic 

d. Syngergetic

98.  The receptors sensitive to light energy are known as what?
a. Chemoreceptors

b. Photoreceptors *
c. Mechanoreceptors

d. visuoreceptors

99.  Which specialized form of receptors are sensitive to light energy?

a. bipolar cells

b. Monopolar cells
c. Rods/cones
d. ganglion cells

100.  Which of the following is the correct physical arrangement of cells in the retina?

a. light → ganglion cells → bipolar cells → rods/cones *

b. light → bipolar cells → ganglion cells →  rods/cones 
c. light → rods/cones → ganglion cells → bipolar cells 

d. light → rods/cones → bipolar cells → ganglion cells 

101.  The type of retinal cells having ON/OFF areas of excitation and inhibition are which ones?
a. bipolar cells 

b. rods cells

c. cones cells

d. ganglion cells *
102.  The magnocellular visual system carried out which functions?
a. Form, movement and depth *
b. Colour and fine detail
c. Angular disparity
d. Contrast and illumination
103.  The parvocellular visual system carries out which functions?
a. Form, movement and depth 

b. Colour and fine detail *

c. Angular disparity

d. Contrast and illumination

104.  The mapping of regions on the retina to regions in the visual cortex is known as what?
a. Correspondence mapping

b. Topographical mapping *

c. Retinocortex mapping

d. Tonotopic mappping

105.  The ventral stream of visual processing is most strongly related to what?
a. ‘When’ information (anticipatory attention)
b. ‘What’ information (object recognition) *
c. ‘If’ information (planning)
d. ‘Where’ information (spatial processing)
106.  The dorsal stream of visual processing is most strongly related to what?
a. ‘When’ information (anticipatory attention)

b. ‘What’ information (object recognition) 

c. ‘If’ information (planning)

d. ‘Where’ information (spatial processing)  *

107.  Which of the following is NOT a gestalt law of visual perception?

a. Law of proximity

b. Law of closure

c. Law of good continuation 

d. Law of whole family  *

108.  The opponent process theory of colour perception argues that, at the ganglion level of processing, there is opposition between?

a. Green vs yellow; red vs blue
b. Red vs. yellow; green vs blue 
c. Red vs green; yellow vs blue  *   

d. None of the above
109.  A motor action is defined as what?
a. Set of muscular movements

b. Coordinated movement following a motor plan *

c. The organization of stereotyped movement

d. Reflexive movements

110.  Feedforward refers to what?
a. Corrective reactions to feedback

b. Anticipatory movements *

c. Forward locomotion

d. Corrective forward locomotion

111.  The principal neurotransmitter at the neuromuscular junction is which of the following?
a. Dopamine
b. Acetylcholine  *
c. Glutamate
d. GABA
112.  The mapping of activity of neurons in the primary motor cortex to specific muscles in the body is known as what?
a. Tonotopic mappping
b. Somatotopic mapping *
c. Correspondence mapping
d. Topographical mapping
113.  Which of the following is NOT involved in the organization of movement?
a. Reticular formation *
b. Basal ganglia
c. Cerebellum
d. Striatum
114.  Which of the following is NOT an action of hormones?

a. Endocrine action

b. Paracrine action

c. Retrocrine action *
d. Autocrine action

115.  Hormones differ from neurotransmitters because they?
a. Do not have target cells in the brain

b. Cannot convey specific information, but only general influences  *

c. Only exert their influences over long distances in the body

d. Cannot affect the action of neurotransmitters

116.  The pituitary gland is attached to which structure?
a. Thalamus

b. Hypothalamus  *

c. Pineal gland 

d. Adrenal gland

117.  Which gland is known as the ‘master gland’?

a. Hypothalamus

b. Pancreas

c. Posterior pituitary
d. d.  Anterior pituitary   *

118.  The hormone insulin is important in which function?
a. Regulation of glucocorticoids
b. Regulation of glucose   *

c. Regulation of oxytocin
d. Regulation of melatonin

119.  The ACTH  is important in which function?
a. Regulation of glucocorticoids *

b. Regulation of glucose   

c. Regulation of oxytocin

d. Regulation of melatonin

120.  Gonadotrophins are involved in which function?
a. Regulation of body fluids

b. Regulation of breast milk

c. Regulation of testis and ovaries *
d. Regulation of immune system

121.  Which of the following statement is true?

a. Males and females produce equal amounts of androgens and oestrogens

b. Females do not produce androgens

c. Males do not produce oestrogens

d. Males and females both produce androgens and oestrogens  *

122.  The hormone which starts the menstrual cycle is which of the following?

a. Progesterone

b. Lutenising hormone

c. Gonadotropin-releasing hormone (GnRH)  *

d. Follicle-stimulating hormone

123. During the organizational phase of development, which hormone(s) determine the


development of female external genitalia?

a. Testosterone alone

b. Oestradiol alone
c. Testosterone and oestrogen

d. None of the above  *

124.  Which gene is important in male sexual differentiation?

a. DAX1

b. SPY *

c. SST1

d. QIT

125.  Which gene is important in female sexual differentiation?

a. DAX1 *

b. SPY

c. SST1

d. QIT 
126.  The hypothalamic-pituitary-adrenal axis (HPA) is important in which function?
a. Menstrual cycle

b. Metabolism

c. Stress *

d. Body weight

127.  The hypothesis that sexual gender is a result of social conditioning and not hormonal influences is known by which of the following names?
a. Bidirectional gender hypothesis
b. Gender neutrality hypothesis *
c. Equipotential gender hypothesis
d. Gender potentiality hypothesis
128.  Habituation is a form of which behavioural process?
a. Instrumental learning
b. Classical conditioning
c. Nonassociative learning *
d. Perceptual learning 
129.  Classical conditioning is best achieved by which procedure?

a. The conditioned stimulus (CS) and unconditioned stimulus (UCS) randomly paired

b. The conditioned stimulus (CS) and unconditioned stimulus (UCS) presented on alternating trials

c. The conditioned stimulus (CS) presented briefly after the unconditioned stimulus (UCS)

d. The conditioned stimulus (CS) presented briefly before the unconditioned stimulus (UCS) *

130.  In relation to classical conditioning, research shows what?
a. The unconditioned response (UCR) and conditioned response (CR) are always be the same
b. The unconditioned response (UCR) and conditioned (CR) response are always different
c. The unconditioned response (UCR) and conditioned response (CR) can be the same or different *
d. The unconditioned response (UCR) and conditioned response (CR) rarely share little in common
131.  Sensory preconditioning illustrates?
a. Mere temporal continuity is sufficient for learning to occur *
b. Reinforcement must be present for learning to occur

c. The conditioned stimulus must always be presented with the unconditioned stimulus
d. Classical conditioning is an experimental paradigm with little power of generalization
132.  The omission of an unconditioned stimulus (UCS) in classical conditioning typically leads to which outcome?
a. Habituation

b. Extinction *

c. Generalisation
d. Inhibition

133.  Which of the following is NOT a type of classical conditioning?

a. Forward conditioning

b. Trace conditioning

c. Delayed conditioning
d. Postponed conditioning*

134. Biological preparedness refers to what?
a. The ability to form fast and robust associations between neutral stimuli

b. The ability to form fast and robust associations between stimuli of all types

c. A readiness to condition to certain innate stimuli *
d. An efficient physiological system ready to condition to all stimuli

135. One major distinction between classical conditioning and instrumental conditioning is what?
a. The temporal relationship between the conditioned stimulus (CS) and the unconditioned stimulus (UCS)
b. The degree of control the subject has over the presentation of the unconditioned stimulus (UCS) *

c. The extent to which they relate to basic skeletal and verbal systems
d. One is mediated by the somatic nervous system and the other by the autonomic nervous system

136. The experimental arrangement in instrumental conditioning that specifies the timing and of presentation of reinforcement is more formally called?
a. Schedule of presentation
b. Reinforcement record

c. Cumulative record

d. Schedule of reinforcement *
137. Classical and instrumental conditioning studies confirm what?
a. All conditioning is an automatic process

b. Verbal processes override automatic conditioning effects

c. Conditioning reveals evidence of cognitive complexity, even in the laboratory rat *
d. Only human being show evidence of developing internal representations of stimuli relations

138. Hebb’s cell-assembly model contains what?
a. Recursive circuits
b. Reverberatory circuits
c. Reiterative circuits
d. Repetitive circuits
139. The Hebb synapse is an important concept where?
a. Neural plasticity of learning  *
b. Neural basis of neurotransmitter function
c. Presynaptic to postsynaptic excitation
d. Postsynaptic inhibitory potentials
140. Which of the following is NOT a part of a neural network processing unit?
a. Weight
b. Threshold value
c. Firing rule
d. Loading  *
141. The humble sea hare, Aplysia californica, is a favourite of the neurophysiologist interested in neural plasticity because?
a. Its fast rate of learning
b. The fine detail of his neurons and synapses
c. The small number and  large size of its neurons *
d. Its fast rate of breeding
142. Habituation in Aplysia californica results from which of the following?
a. Decreased sensitivity of sensory neurons

b. Decreased reactivity of motor neurons

c. Reduced release of neurotransmitter from sensory neurons *
d. Reduced number of  motor neuron receptors 
143. Sensitivation in Aplysia californica results from which of the following?
a. Increased sensitivity of sensory neurons

b. Increased reactivity of motor neurons

c. Increased release of neurotransmitter from sensory neurons *

d. Increased number of  motor neuron receptors 

144. Long term potentation of learning involves which of the following?
a. Neuronal activity changes only

b. Neuronal structural changes only

c. Both activity and structural changes

d. Only neurotransmitter changes

145. The process which has the opposite effect of long term potention is called what?
a. Long term depression *
b. Long term readjustment

c. Long term homeostasis

d. Short-term potentiation

146.  Drugs designed to improve learning and memory are often called by what name?
a. Performance enhancers

b. Cognitive enhancers *
c. Behavioural enhancers

d. Psychological enhancers
147.  Aphasia is cognitive deficit specifically of which function?
a. Vision

b. Communication  *

c. Recognition

d. Memory

148.  Agnosia  is cognitive deficit specifically of which function?
a. Vision

b. Communication  

c. Recognition  *

d. Memory

149.  Synaesthesia is a disorder of what?
a. Language and communication

b. Sensory processing and perception  *

c. Objective recognition and naming

d. Learning and memory
150.  Split-brain patients typically show which of the following?
a. A marked deficit in their ability to communicate

b. Constant conflict between the wills of both hemispheres

c. Loss of depth perception

d. Little evidence in everyday life of impairment of function *

151.  Executive functions measure processes necessary for which of the following?
a. Motor programming behaviour

b. Integration of different cognitive functions *

c. Integration of language processes

d. Behavioural and emotional integration

152.  Which of the following is a measure of premorbid intelligence?

a. Digit span test
b. Peabody Picture Vocabulary test
c. National Adult Reading Test (NART) *
d. Raven’s Progressive Matrices

153.  A widely used measure of executive functions is which of the following:
a. Wisconsin Card Sorting Test (WCST) *

b. Block design

c. Trial Making Test

d. Paced Auditory Serial Addition Test (PASAT)

154.  Latent inhibition consists of the retardation of learning in which of the following conditions?  
a. CS-UCS association once the UCS has been preexposed with reinforcement

b. CS-UCS association once the CS has been preexposed with reinforcement

c. CS-UCS association once the UCS has been preexposed without reinforcement

d. CS-UCS association once the CS has been preexposed without reinforcement *

155.  Kamin blocking is found when?

a. prior CS1-UCS association facilitates subsequent (CS1+CS2)-UCS conditioning
b. prior CS1-UCS association retards subsequent (CS1+CS2)-UCS conditioning  *

c. prior CS1-UCS association facilitates subsequent CS-(UCS1+UCS2) conditioning

d. prior CS1-UCS association retards subsequent CS-(UCS1+UCS2) conditioning

156.  The Stroop Test measures what?
a. Dstractability 

b. Asociative learning

c. Attentional interference  *

d. Latent inhibition

157.  Transcranial Magnetic Stimulation (TMS) cannot what?

a. Recover repressive memories  *
b. Have both inhibitory and excitatory effects
c. Interfere with cognitive processes
d. Stimulate nerve activity
158.  Which of the following is a double dissociation?

a. Damage to area X1 impairs function Y1; damage to X2 impairs Y2
b. Damage to area X1 impairs function Y2; damage to X2 impairs Y1
c. Damage to area X1 impairs functions Y1 and Y2; damage to X2 impairs Y2 and Y1
d. Damage to area X1 impairs function Y1, not Y2; damage to X2 impairs Y2, not Y1  *
159. Reliability of measurement may be increased by which means?
a. Increasing the true score

b. Aggregation of data *

c. Using multiple recording methods

d. Eliminating error in measurement

160. Which of the following is NOT a form of validity?
a. Predictive validity

b. Postdictive validity *

c. Construct validity

d. Criterion-related validity

161. Which of the following is true of eletrodermal measures?
a. They are difficult to take

b. They are highly stimulus specific

c. They are non-specific measures of arousal *

d. They quickly habituate

162. Which of the following types of psychophysiological tools are used to measure the facial expression of emotions
a. Electrodermal

b. Cardiac

c. Electromyography *

d. EEG
163. Prepulse inhibition (PPI) of the acoustic startle reflex is a reduction in strength of the startle reflex when?
a. The startle eliciting stimulus is followed by a weak prepulse
b. The startle eliciting stimulus is followed by a strong prepulse
c. The startle eliciting stimulus is preceded by a strong prepulse
d. The startle eliciting stimulus is preceded by a weak prepulse *
164. Which of the following is NOT a measure used in oculomotor psychophysiology?
a. Smooth pursuit

b. Saccade

c. Anti-saccade

d. Reverse saccade *

165. The electroencephalogram (EEG) measures what?
a. Electrical activity from scalp *
b. Magnetic activity at scalp

e. Electrical activity from cortex

f. Magnetic activity from cortex

166. Which of the following is true of the EEG?
a. It can only measure activity generated at the surface of the brain

b. It can only measure activity generated in the limbic system

c. Each EEG contact measure the activity generated at that point

d. It is sensitive to activity generated in diffuse areas of the brain *

167. A predominance of EEG activity in the alpha range is likely to be seen in a person who is in which state?
a. Emotionally aroused state
b. Awake and relaxed *

c. Undergoing cognitive testing

d. REM sleep

168. Event-related potentials (ERP) differ from general EEG activity in which of the following ways?
a. Stimulus locked and fast *

b. Stimulus locked and slow

c. Stimulus independent and fast

d. General fluctuation of activity in brain

169. The averaged ERP signal is usually broken down into which of the following?
a. Phases

b. Components *

c. Blocks

d. Segments

170. Compared to EEG, magnetoencephalogram (MEG) has what?
a. Less temporal resolution
b. Les spatial resolution
c. Better functional mapping properties *
d. More limited functional mapping properties
171. A CAT scan shows what?
a. Which areas of the brain are active or inactive

b. Computer-generated image of brain structure *
c. Electrical activity of the cortex
d. Magnetic activity of the cortex
172. Positron emission tomography (PET) is used for measuring what?
a.  Fine structural detail of the brain
b.   Regional metabolic activity *
c.  Electrical activity
d.  Magnetic activity

173.  Electromagnets are needed for making images of the brain using which of the

following techniques:
a. EEG

b. CAT

c. PET

d. MRI 

174.  A subject is often injected with radioactive 2-deoxyglucose (2-DG) before which type

of scan?

a. CT
b. MRI
c. MEG
d. PET

175. Which of the following imaging techniques provides the most detailed three

dimensional view of the structure of the living brain?
a. MEG
b. PET

c. CAT

d. MRI *
176. Which imaging method provides both structural and functional information?
a. MEG

b. PET

c. CAT

d. MRI *
177. Functional MRI generates images of increases in which substance?
a. Oxygen  *
b. Water 
c. Glucose 
d. Radioactivity
178.   If you want to determine which brain area was activated during the performance of a

task, which imaging technique would you use?
a. PET

b. MEG

c. MRI * 

d. CAT
179. The main advantage of MR over EEG is what?

a. Temporal resolution

b. Spatial resolution *
c. Temporal and spatial resolution 

d. None of the above
180. One of the criticisms of functional MRI is that it is based on which type of

methodology?
a. Invasive methodology

b. Correlational methodology *

c. Experimental methodology 

d. Animal methodology
181. Which of the following is used for chemical analysis of neurotransmitters?

a. Histology
b. Stereotaxic surgery
c. Microdialysis *
d. Microiontophoresis

182. Histology is the study of what?
a. Structure of brain issue *

b. Chemical composition

c. Neuronal assemblies

d. Neurotransmitter density
183. With which technique would you use perfusing, fixing and staining?

a. Histology *

b. Stereotaxic surgery

c. Microdialysis 

d. Microiontophoresis
184. Anterograde labeling refer to flow in which direction?

a. From cortex to brain stem structures
c. Form limbic to cortical structure
d. In the opposite direction to that of the action potential
e. In the direction of the action potential *

185. The techniques used to measure the degree of gene activity and protein activity i

what?

a. Microdialysis

b. Microiontophoresis

c. Audioradiography

d. Immunocytochemistry *

186. What is the major characteristic of a stem cell?

a. It is embryonic

b. It proliferates easily
c. It is undifferentiated  *

d. It is differenitiated
187. The drug response curve shows the relationship between what?
a. Drug doses and therapeutic responses

b. Drug doses and side effects

c. Therapeutic response and side effects *

d. Drug doses and 50% toxicity

188. Pharmacokinetics is concerned with what?
a. Affinity of receptors for the drug

b. Minimum dose required to see adverse side effects

c. Minimum time to therapeutic benefit

d. Way the body handles the drug *

189.  Pharmacogenetics is the science of what:
a. How drugs turn on and off genes
b. genetically-based individual differences in reactions to drugs *
c. Statistical genetic studies of drug effects
d. How genes can be used to develop new drugs
190. A simple “before and after” test of a new drug is inadequate for which of the following reasons?
a. People differ in the way they respond to drugs

b. Symptoms change too much



c. Spontaneous improvements might wrongly be attributed to the drug *
d. Some people might improve, while others may deterioriate
191. In order to eliminate the effects of expectancy, it is necessary to what?
a. Carry out a longitudinal study on the patient

b. Administer a before and after test

c. Compare a drug-treated group of patients with an untreated group that has the same diagnosis

d. Give a placebo

192. The placebo effect is defined as what?
a. An improvement following treatment with a medically neutral substance *
b. A drug-induced change in specific symptoms

c. A spontaneous improvement in the absence of any drug
d. The prevention of illness due to belief
193. The human genome contains approximately how many base sequences?
a. 1 billion
b. 3 billion *
c. 5 billion
d. 7 billion
194. Approximately how many genes are there thought to be in the human genome?
a. 10,000

b. 30,000 *

c. 100,000

d. 180,000

195. Heritability estimates refer to what?
a. Percentage of genetic cause of a given phenotype

b. Percentage of variation in phenotype attributed to genetic influence *
c. How much individuals’ phenotypes have a genetic basis

d. The remainder of variance in a phenotype after the environment has been taken into account
196. Heritability is only ever what?
a. A individual-based estimate

b. A population-based estimate *

c. An environment-based estimate

d. An interaction of all of the above

197. A phenotype with a large genetic component implies what?
b. There can only ever be a minor contribution from the environment

c. Any form of environmental intervention is likely to be unsuccessful

d. Only modification of the gene can change the phenotype

e. None of the above *

198. Which genetic model best explains the existence of continuous distributions in

behavioural phenotypes?
a. Monogenic

b. Polygenic *

c. Oligogenic

d. trigenic

199. If ‘square headed people’ are found to have a much higher IQ than ‘round headed

people’, and the estimate of IQ heritability within both populations is 0.7, then on the basis

of these data we may correctly infer what?
a. The mean difference between the groups is largely genetic
b. At least a sizable proportion of the mean difference between the groups is genetic
c. Genetics play some role in these group differences
d. These data have nothing to say about the reasons for this mean group difference  *
200. Which genetic condition shows that a phenotype can be virtually genetically

determined yet have a very low observed heritability estimate in the general population?
a. Down’s syndrome

b. PKU *

c. Sickle cell anaemia

d. Huntington’s disease

201. Epistasis refers to what?
a. Additive gene effects

b. Nonadditive gene effects at different loci *
c. Nonadditive gene effects at same loci
d. Independence of gene effects
202. Gene dominance refers to what?
a. Additive gene effects

b. Nonadditive gene effects at different loci 

c. Nonadditive gene effects at same loci *

d. Independence of gene effects

203. What factor could compromise the integrity of twin studies?
a. When twins are tested later in life
b. When twins know the purpose of the testing

c. When samples from different countries are combined 

d. When MZ twins and DZ twins experience different environments *

204. What factor could compromise the integrity of adoption studies?
a. Twins separated at birth
b. Selective placement *

c. Being brought up in a stimulating environment
d. Having contact with biological parents
205. Which factor is  LEAST important in explaining the variance observed in most

behavioural measures?

a. Genetic

b. Shared environment *

c. Nonshared environment

d. Mixed environment

206. The study of the statistical contribution of genetic and environment influences on

phenotypes is referred to as what?
a. Qualitative genetics

b. Quantitative genetics *

c. Component genetics

d. Proportional genetics

207. The study of the molecular basis of genetic on phenotypes is referred to as what?
a. Qualitative genetics *

b. Quantitative genetics 

c. Component genetics

d. Proportional genetics

208. How many human genomes actually exist?

a. Only one 

b. One for each major population group 

c. As many as the number of people alive *

d. None of the above

209. Polymerase chain reaction (PCR) is used for what purpose?

a. Sequencing DNA

b. Cutting- and slicing DNA 

c. Amplification of DNA *
d. Tagging DNA sequences for optical reading

210. Which of these techniques is NOT used to discover genes? 

a. Comparing species

b. Association studies

c. DNA microarrays *

d. Reverse Transcriptase

211. A gene in a multiple gene system coding for a continuous trait is known as what? 

a. Qualitative Trait Loci

b. Quantitative Trait Loci *

c. Positional Trait Loci

d. Componential Trait Loci

212. What is the study of mental illness called? 

a. Psychopathy

b. Pathophysiology

c. Psychopathology *

d. Physiopathology

213. Which of the following is NOT an example of a neurotic disorder? 

a. Depression

b. Phobia

c. Schizophrenia *

d. Anxiety

214. DSM classification is arranged how many axes? 

a. 2

b. 4 *

c. 6

d. 8

215. Depression is classified as which type of disorder? 

a. Behavioural disorder

b. Cogiitive disorder

c. Physiological disorder
d. Affective disorder *

216. Sir Winston Churchill called his periodic bouts of depression what? 

a. Dark cloud

b. Winter evening

c. Black dog

d. Gray cat
217. Attributional style is arranged around which three dimensions?
a. Internality, stability, controllability

b. Internality, stability, globality *

c. Externality, globality, relevance

d. Externality, stability, efficacy

218. Depression is associated with which process? 

a. Hyperactive HPA *

b. Underactive HPA

c. Hyperactive adrenal gland

d. Hyperactive APH

219. The neural toxicity hypothesis of depression is implicated with which of the following

substances? 

a. GABA

b. Endorphins

c. Substance X

d. Cortisol *

220. Which of the following terms is NOT used to describe a treatment response to a drug? 

a. Response

b. Remission

c. Reversion *

d. Recurrence

221. Which was the first major neurochemical hypothesis of depression? 

a. Serotonin hypothesis

b. Peptide hypothesis

c. Receptor hypothesis

d. Monoamine hypothesis *

222. Which of the following is a major problem for the monoamine hypothesis? 

a. It implicates too many neurotransmitters

b. Not all patients respond to monoamine treatment

c. The time delay between administration and therapeutic benefit *

d. The serotonin hypothesis of depression

223. Classical antidepressants are characterized by what? 

a. Being highly selective drugs

b. Being diffusely acting drugs *

c. By their excellent safety profile

d. By their speed of effect

224. Which is not a symptom of a manic state?

a. Lively and infectiously mood
b. Extremely talkiveness

c. Able to deal easily with frustration
d. Very self-confident

225. Which of the following may be found in major depression?
a. Delusions or hallucinations

b. Disrupted attention and short-term memory

c. Fatigue, weakness and sleep disorder

d. All of the above
226.  Which of the following psychophysiological techniques has been tested as a treatment

for depression?
a. MRS

b. CAT

c. TMS *

d. fMRI
227. Which of the following is NOT a specific phobia category? 

a. Social
b. Specific
c. Agoraphobia
d. Generalised *
228. Panic disorder is most associated with which other disorder? 

a. Depression

b. Phobia

c. Agoraphobia *
d. OCD

229. Which of the following if NOT true of Obsessive-Compulsive Disorder (OCD)?
a. Compulsions serve to reduce anxiety 
b. Compulsions alone never occur

c. Obsessions cannot be directly observed

d. Obsessions serve to reduce anxiety *
230. Which of the following if NOT true of Posttraumatic stress disorder (PTSD)?
a. Increased physiological arousal

b. Intrusive flashbacks

c. Aggression and impulsiveness

d. Memory enhancement *

231. The norepinephrine hypothesis of anxiety is supported by the finding that activating of

which structure leads to anxiety?

a. Amgydala

b. Hippocampus

c. Locus coereleus *

d. Hypothalamus

232. By which mechanism do benzodiazepines reduce anxiety?

a. Direct action at benzo receptors

b. Positive allosteric interaction with GABA *

c. Negative allosteric interaction with GABA 

d. Neutral allosteric interaction with glutamate

233. Affective modulation of the startle reflex with anxiety patients show what?

a. Startle potentiation by pleasant images

b. Startle potentation by unpleasant images *

c. Both a & b 

d. Startle attenuation by all affective stimuli

234. An endophenotype is also known as what?

a. Final phenotype

b. Subjective phenotype

c. Intermediate phenotype *

d. Psychiatric phenotype

235. Which of the following measures might be used as an endophenotype in psychiatric research?

a. Symptoms

b. Subjective reports

c. Eye movement measures *

d. Diagnosis

236. The incubation model of conditioning attempts to resolve which problem?
a. ‘Neurotic paradox’ *

b. ‘Conditioning dilemma’

c. ‘Anxiety conundrum’

d. None of the above

237. A typical conditioning procedure used to examine anxiety is what?
a. Preferential classical conditioning

b. Differential classical conditioning *
c. Scheduled instrumental conditioning

d. Reinforced instrumental conditioning

238. Who first coined the word ‘schizophrenia’?

a. Jung

b. Freud

c. Bleuler

d. Kraepelin

239. Which of the following is NOT a sign/symptom of schizophrenia?

a. Language deficit

b. Impaired behavioural monitoring

c. Motivation deficits

d. Multiple personality *

240. If a patient believed that newsreaders were sending them hidden message, then this

would be an example of which delusion?
a. Somatic delusion

b. Referential delusion

c. Grandiose delusions

d. Persecutory delusion
241. If a patient reported that they are regularly followed by different strangers who

intended them harm then this would demand a diagnosis of what?

a. Schizophrenia

b. Delusion disorder

c. Phreniform disorder

d. None of the above *

242. Approximately what proportion of the adult population receives a diagnosis of

schizophrenia?

a. 0.01%

b. 0.1% *
c. 1%

d. 12%

243. Which of the following is NOT one of the positive symptoms of schizophrenia?

a. Emotional blunting  *
b. Hallucinations

c. Delusions

d. Bizarre behaviours

244. Studies of schizophrenia twins show what?
a. Genetic factors play a minor role in schizophrenia

b. MZ twins have a higher concordance rate for schizophrenia than do DZ twins *
c. MZ twins are more likely to become schizophrenic than DZ twins

d. none of the above
245. Genetic studies of schizophrenia twins strongly suggest that the mode of inheritance is

what?
a. single gene disorder

b. oligogenic

c. multiple gene complex *

d. epistatic
246. If schizophrenia patients were injected with a drug that increases dopamine activity
then what would be observed?
a. Their symptoms disappear
b. Their symptoms become milder and less extreme

c. Their symptoms become wilder and more extreme  *
d. They would develop paradoxical reactions
247. Evidence for the dopamine hypothesis comes from the following fact(s)?
a. Amphetamines, which enhance dopamine activity, can produce temporary psychosis

b. Drugs which block the action of dopamine alleviate the symptoms of schizophrenia
c. The same drugs alleviate schizophrenia and amphetamine psychosis
d. All of the above
248. Negative symptoms in schizophrenia are characterized by what?

a. Aggression

b. Poor attitudes to treatment

c. An inflated sense of self-worth

d. A loss of normal functioning * 

249. The period immediately preceding the onset of illness, during which signs of the illness

start to become apparent, is known as what?

a. Multiple personality 

b. Prodromal phase *

c. Predictive phase

d. Pathophysiological phase

250.  Which of the following factors have been implicated in schizophrenia?

a. Natural disasters

b. Pregnancy complications

c. Cannabis use

d. All of the above *

251. Neuropsychological tests reveal schizophrenia deficits in which areas?

a. Working memory

b. Executive functions and planning

c. Episodic memory

d. All of the above *

252. Which of the following methods could be used to test the cognitive inhibition

hypothesis of schizophrenia?

a. Affective modulation of the startle reflex

b. Differential classical conditioning

c. Negative priming *

d. Positive priming

253. In the latent inhibition task, schizophrenia patients typically show what?

a. Slower CS-UCS learning than controls

b. Faster CS-UCS learning than controls *

c. More fragmented CS-UCS learning than controls
d. A failure to learn the CS-UCS association.

254. In healthy experimental volunteers administered amphetamine, we should expect to

see the following on a latent inhibition task?

a. Slower CS-UCS learning than controls

b. Faster CS-UCS learning than controls *

c. More fragmented CS-UCS learning than controls

d. A failure to learn the CS-UCS association.

255. Schizophrenia patients typically show the following on prepulse inhibition?

a. Less pulse-elicited inhibition due to prepulse *
b. More pulse-elicited inhibition due to prepulse

c. Less prepulse-elicited inhibition due to pulse

d. More prepulse-elicited inhibition due to pulse

256. If you were asked to test the sensorimotor gating theory of schizophrenia, which

method would you use?

a. Anti-saccade

b. Latent inhibition

c. Prepulse inhibition *

d. Kamin blocking

257. The typical class of antipsychotics target which neurotransmitter?

a. Serotonin

b. Norepinephrine

c. Dopamine *

d. Noradrenaline

258. The profile of atypical class of antipsychotics may be said to involve what?

a. Serotonin-dopamine antagonism *

b. Serotonin-norepinephrine antagonism

c. Dopamine-endorphin antagonism

d. Dopamine-GABA antagonism

259. The causal significance of volume differences observed between patients and control

groups is greatly supported when:
a. Such differences are also found at first episode

b. Such differences are also found in family members

c. Such differences are found in unaffected individuals at high risk of developing the disease *
d. None of the above

260. Who proposed the schizotaxic hypothesis of schizophrenia?

a. Bleuler

b. R. D. Laing

c. Meehl *

d. Rado

261. The construct that measures variation in schizophrenia proneness in the general

population is generally called what?

a. Schizotaxia
b. Schizotypy *
c. Schizophreniform
d. Schizophrenia trait
262. Tim Crow argues that schizophrenia is the price human pay for what?

a. Memory

b. Consciousness

c. Language  *

d. Imagination
263. Which of the following principles is NOT one of Darwin’s concerning the expression of

emotion?

a. Principle of serviceable associated traits
b. Principle of antithesis
c. Principle of direction action of the nervous system
d. Principle of proaction *
264. Which of the following is NOT considered a basic emotion?

a. Happiness

b. Anger

c. Regret *

d. Disgust

265. Which psychologist dismissed emotion as a ‘fiction’?

a. Eysenck

b. Skinner  *

c. Freud

d. Ekman

266. The Doomsday Machine metaphor highlights what aspect of emotion?

a. Its automaticity *

b. Its negative effects

c. Its positive effects

d. Its irrationality

267. The most commonly used multivariate statistical technique to uncover the structure of

personality is what?
a. Cluster analysis

b. Factor analysis *

c. Multidimensional scaling

d. Multitrait analysis if variance 

268. The Five Factor Model (FFM) measures which five factors?
a. Extraversion, introversion, neuroticism, conscientiousness, agreeableness

b. Extraversion, neuroticism, conscientiousness, agreeableness, impulsiveness

c. Extraversion, neuroticism, conscientiousness, agreeableness, openness *

d. Extraversion, neuroticism, consciousness, agreeableness, impulsiveness

269. Hans Eysenck postulated which three major dimensions of personality?

a. Extraversion, neuroticism, conscientiousness

b. Extraversion, neuroticism, impulsiveness

c. Extraversion, neuroticism, psychoticism *

d. Extraversion, neuroticism, agreeableness

270. Which of the following traits is NOT found in Panksepps’ Affective Personality Scales?

a. Spirituality

b. Religiosity  *

c. Sadness

d. Playfulness

271. Reinforcement sensitivity theory of personality is associated with which psychologist?

a. Jaak Panskepp

b. Hans Eysenck

c. Paul Ekman

d. Jeffrey Gray *

272. Which of the following systems is NOT found in Reinforcement sensitivity theory of personality?

a. Behavioural Avoidance System *

b. Fight-Flight-Freeze System

c. Behavioural Approach System

d. Behavioural Inhibition System

273. Panic is most associated with brain structure?

a. Frontal cortex

b. Hippocampus

c. Periaqueductal grey *

d. Amygdala

274. The genetic and environmental contributions to individual differences in animal

behaviour is best studied with which research technique?

a. Quantitative genetics
b. Molecular genetics
c. Selective breeding *

d. Domestic breeding

275. On the basis of personality research, which of the following statements is LEAST true?

a. Shared environmental influence is important  *

b. Nonshared environmental influence is important

c. There is a strong genetic influence on personality

d. Genes and environment interact to influence personality
276. In Darwinian terms of Struggle for Existence, the extremely nervous and tolerant young

male has what degree of genetic fitness?

a. low

b. medium

c. high

d. all depends  *

277. Individual differences in the functioning of biological systems are due to what?
a. Blind chance

b. Genes

c. Genes & evironment

d. All of the above *

278. A high test-retest correlation coefficient for personality measured at two intervals (e.g.,

50 years) indicates what?

a. Scores have changed very little over the years

b. Scores have change a lot over the year

c. Scores have remained unchanged over the year

d. It is not possible to say anything about change scores *

279. When is an animal most likely to burst into explosive defensive aggression?

a. When the predator is fast approaching

b. When escape is not possible *

c. When surrounded by conspecifics

d. When highly aroused

280. The purpose of fear-motivation is to what?
a. Leave the feared situation  *

b. Prepare an attack response

c. Increase information processing

d. Assess the situation
281. Approach-avoidance conflict is most likely to lead to which emotional state?
a. Doubt

b. Fear

c. Anxiety  *
d. Fatigue

282. Compared to stable people, neurotic people should be thought to have?

a. Longer perceived defensive distance

b. Shorter perceived defensive distance *

c. Longer perceived defensive direction

d. Shorter perceived defensive direction
283. Information processing theory derived from which field?
a. Biological systems

b. Cybernetics *
c. Neural theory

d. Telephonics

284. Information reduces what?
a. Number of options
b. Stimuli
c. Uncertainity *
d. Responses
285. In computational terms, an algorithm is defined as what?
a. Set of ‘fuzzy’ information processing rules 

b. System of neuronal networks based on associationist principles following heuristic rules

c. Flexible computational system of rules for reaching a goal

d. Mathematical operation that is broken down into a number of finite elementary steps *

286. The idea that if input-output relations are perfectly simulated then all properties of the

system would be produced is known as what?

a. Duplicationism

b. Functionalism *

c. Reductionism

d. Eliminativism

287. Roger Penrose cites what as evidence that the brain-mind is not an algorithmic

computer?

a. No machine could, in principle, be conscious

b. There is little evidence that that brain-mind uses digital processes
c. Its processing power is greater than any existing computer

d. Tt can compute ‘noncomputable’ functions  *

288. According to Cosmides, an important module in social behaviour is responsible for
what?

a. Sexual attraction

b. Cheater detection  *

c. Keeping track of social networks

d. Memory of dangerous animals/plants

289. A meme may be defined as what?
a. Idea that is difficult to communicate
b. Idea that get slowly changed with repetition (e.g., ‘Chinese wisper’)
c. Idea that serves a genetic goal
d. Type of contagious mind virus  *

290. Consciousness is often said to be the last remaining what in science?

a. Conundrum

b. Problem

c. Puzzle

d. Mystery *

291. Dennett’s ‘Cartesian theatre’ of consciousness refers to what?
a. The place in the brain where consciousness is generated

b. The place in the brain where consciousness is displayed for conscious perception

c. The belief that the brain is unable to generate the qualia of consciousness

d. A term of mockery reserved for theories that assign a special place or process to consciousness *

292. Dennett’s theory of consciousness is known as what?
a. Neural correlates of consciousness

b. Multiple drafts model  *

c. Late-error detection

d. Cartesian dualism

293. The philosophical invention of the zombie was to explore the possibility of what?
a. Subjective experience of qualia does not necessarily lead to psychological insight

b. Cognition is required for consciousness

c. Individuals can appear to be conscious without subjective experience of qualia *

d. Consciousness is independent of free will 
294. The ‘causal closure’ of the physical world is important because it seem to show what?

a. Subjective states can influence brain states

b. Subjective (mind) processes cannot causally influence objective (brain) processes *

c. Conscious awareness must be caused by brain states

d. The physical brain-mind cannot be influenced by other brains-minds 

295. The ‘Hard Problem’ of consciousness refers to what?
a. The function of consciousness

b. How qualia relate to behaviour?

c. How qualia relates to brain processes*

d. How to understand the vast quantity of brain research in consciousness studies

296. Libet is famous for showing what?
a. Mind states can alter brain states

b. Conscious states can be broken down into separate percepts

c. Perception of stimulation comes 0.5 second after brain processing of the same stimulus *

d. The instant the brain registers a stimulus, conscious awareness of that stimulus is generated

297. The neuropsychological condition in which subjectively blind people can perform

visual tasks at above chance levels is known by which name?

a. Hindsight

b. Blindsight *

c. Foresight

d. Mindsight

298. The phenomenon of ‘change blindness’ seems to indicate what?
a. Highly selective visual awareness

b. Alack of temporal updating of visual information

c. Partial processing of visual science

d. All of the above *
299. Jeffrey Gray suggested that the function of consciousness is to act as a what?

a. ‘What-if’ mental simulations

b. Late error detector *

c. Guide to visual attention

d. Guide to memory retrieval
300. Which of the following is a strong argument in favour of an evolutionary function for

consciousness?

a. Subjective percepts closely match the structure of physical stimulation *

b. Consciousness helps with avoiding dangerous prey
c. Consciousness allows us to make plans for the future
d. Only more intelligent animals show signs of conscious awareness
















